~J

7

76.

80.

wF

Part - B

D&‘.\\Cl“ll\(‘ 2 @1 O .o
 the general ¢aracteristics of geography in the Classical Greek Period.

Differentiate .
o ‘t‘“l‘ll\l.m .lzel\\un Ljommcmul shelf and continental slope and discuss in
el the significance of continental shelves to man.

Give reasons why?
(a) Tamil Nadu gets more rain in winter than in summer.
(b) Mawsynram and Cherrapunji get high rainfall.
(¢) There is very low rain in western R ajasthan.

Distinguish between weathering and erosion and discuss in what ways
mechanical weathering takes place in cold and hot lands.
Answer the following questions about world temperature distribution:

(a) lsotherms generally trend cast-west, why?

(b) Why are isotherms imore regular in the northern hemisphere than in the

southern hemisphere?

Bring out the distinction between .the Coniinental Drift Theory and Plate
Tectonic Theory.

~ One of the greatest menaces of environmental degradation is deforestation.

1‘laborate.

In the northern part of Indian Ocean there is a complete reversal of currents
between winter and summer as a result of the alternating monsoon winds.
Discuss.

_ Answer the following questions:

(a) What do you mean by radicai and welfare approaches in geographic
studies?

(b) List the merits and demerits of quantitative revolution in geography.

What is a map? Classify the maps on the basis of scale.
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61.

62.

63.

64.

66.

67.

68.

. 69.

Indian Standard Time (IST), which is ahead of 5 '2 hrs. of Greenwich Time

corresponds with one of the following meridians:
(a) 80" 30' W (b)81° 30'E
(c) 82" 30'E (d)82° 30' W
Which India river changes its course very frequently?
(a) Ganga (b) Kaveri
(c) Kosi (d) Narmada
A dome-shape snow house (Igloo) is the home of:
(a) Bedouins (b) Eskimos
(¢) Fulassia (d) Mizos
A line joining the place of an equal amount of rainfzall:
(a) Isobar (b) Isohyet
(c) Isoceismal (d) Isotherm
‘Selvas’ is the natural vegetation of:
(a) Mediterranean region (b) Monsoon region
(c) Tropical grassland region (d) Equatorial region

. 1w vohicl, oL the following regions rainfall occurs mainly in winter and summer

remains dry?

(a) Prairies type (b) Mediterranean type

(c) Monsoon type (d) Hot desert type
Petroleum deposits in India are found chiefly in:

(a) Granite (b) Basalt

(c) Metamorphic rocks (d) Sedimentary rocks

The Fukushima city of Japan, where recently Nuclear accident took place due to
devastating earthquake and Tsunarni, is situated in the Island of:

(a) Kyushu (b) Hokkaido

(c) Shikoku (d) Honshu

According to the provisional data of 2011 Indian Census, which one option among
the following is not correctly matched?

(a) General literacy rate — 74.04 per cent

(b) Total population — 1210 million

(c) Population density — 382 persons per sq. km

(d) Decadal population growth — 21.64 per cent

‘A new approach to the.functional classification of towns’ after modification
Weaver’s crop comoination method was developed by:

(a) M. Shafi (b) S.M. Ali

(c) S.M. Rafiullah _ (d) Z. Alvi

70. ‘Chipko Movement’ is related to:

(a) Forest conservation (b) Preventing soil erosion
(c) Preventing threatened species  (d) Water conservation

|
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19. Which of the following salts is found in the ocean waters, in maximum amount.
(2) Sodium chlonde

(b) Magnesium chloride
(¢) Magnesium sulphate

(d) Calcium sulphate
50. Counter Equatorial Current flows from:
(a) West 1o east

(b) East to west
(c) North to soul_h

(d) South to north
51. Who wrote the “Cosmos’ scrpt?
(a) Carl Ritter (b) Humboldt
(¢) Emmanuel Kant (d) F. Ratzel
52. Which tribe is more prevalent in Nilgiri Hills
(a) Bhil (b) Santhal
(¢) Munda (d) Toda

- : , and Canada
53. The lautude, which delineates as geometnc boundary between the USA

18 :
(a) 17 °N (b) 41 ‘;1\
(c) 49 °N (d) 41 s

54 Which one of the following Censuses of India recorded a decrease in India’s total

yopulation”
o (a) 1901 (b) 1911
(c) 1921 (d) 1951
53, Which one of the following is a large scale map?
; (a) Wall map of the World (b) Atlas map of India
\ (c) Cadastral map (d) Political map of the World

36. Which one of the following air-parcels has saturated air?

(a) (b) (C) (d)

7“

0“
Water Vapour content
(grams/kg.) ——»

Capacity —* 20

\ Temp. ( C)

dew?
(a) Long, cold winter nights
'(¢) Dew point below freezing point

-57.Which one among the following is not a necessary condition?ﬁ\{he occurrence of

(b) Calm atmosphere / no w}
(d) High relative humidity

b X8
= i@ 58.Who introduced the term anticyclone for the first time? \\
LREE (a) Fitzroy (b) J. Bjerknes T
B (c) F. Galton (d) V. Bjerknes
59. Which one of the following RF represents the 1 cm map distance to 5 k.\lometre
‘ ** . . _. . and 7 hectometres of the ground distance?
GRS (a) 1: 507000 -
ol T (@) 155700 (el 18 00

(d) 1:570000

e LT
et
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37. Chagos-St. Paul mid-oceanic ridge is situated in the;
(a) Atlantic ocean (b) Arctic ocean
(¢) India ocean (d) Pacific ocean

38. ‘Horse Latitudes’ are synonyms to:
(a) The belt of duldrum
' (c) Polar high pressure belt

(b) Equatorial low pressure helt
(d) Sub-trorical high pressure belt

39. Where does convectional rainfail occur almost daily?
(a) Equatoriai region (t) Desert region
(c) Temperate region (d) Mediterranean region

40. Which one is responsible for the deflection of the winds?
(a) Gravitational force (b) Latitudinal force
(c) Pressure force (d) Coriolis force

4]. Perihelion distance is:
(a) 157 million km
(c) 142 million km

(b) 147 million km
(d) 152 million km

42. Dry adiabatic lapse rate of temperature per km. is:

(a)1n°r (b) 6.5 °C
(6 55°C d)7°C
43. When Alfred Wegener did propounded Continental Drift Theory?
(a) 1912 (b) 1885
(c) 1910 (d) 1931

44. Which topography is ‘Uvula’ associated with?
(a) Karst (b) Arid

(c) Coastal (d) Fluvial

45. Which is a measure of Central Tendency?
(a) Standard deviation
(c) Mean deviation

(b) Mode
(d) Correlation

46. Which of the following is associated with endogenetic forces?
(a) Roche Moutonnes (sheep rocks) (b) Rift valley

(c) Hanging valley (d) Inselberg
47. ‘The Black Soils’ of Gujarat are associated with which one of the following !
Geological Periods? _
(a) Cretaceous (b) Tertiary
(d) Carboniferous

(c) Jurassic

48. Which is not characteristic of an isopleth map?
(a) Lines at selected interval of quantity
(b) Lines of equal values
(c) Use of administrative units
(d) Lines labeled with corresponding values

Scanned by CamScanner



3

,, :
24. The amount of Carbon di-oxide in the atmosphere 1s:
(a) 0.03 %~ (b) 0 30 %

(c) 0.33 % () 0.04 %
25. The Sunda Trench is in the

(a) Pacific ocean

b) Atlanti
(¢) Indian ocean (b) Atlantic ocean

(d) Arctic ocean

26. Which one of the following is a calcareous ooze:

(a) Globigerina (b) Diatom
(c) Radiolarina (d) Red Clay
27. Which part of the oceans the ‘Sargasso Sea’ is associated with:
(a) Northern Pacific ocean (b) Northern Atlantic ocean
(c) Southern Indian ocean (d) Southern Pacific ocean

28. Highest salinity is found in the:

(a) Salt lake (b) Lake Van
(c) Red sea (d) Dead sea
20. The largest groundnut producing country in the world is:
(a) Sudan (b) USA
(c) China (d) I~
50. The leading Rubber producing country in the world is:
(a) Indonesia (b) Malaysia
(c) Sri Lanka (d) Thailand

31. Which of the following countries drives about 99 per cent of its total energy
requirement from water:
{a) New Zealand (b) Switzerland
(c) Australia (d) Norway

32. A population that is too small to make full use of resources available to it is termed
as:
«i{a) Over population (b) Under population
¢:(c) Optimum population (d) Slow growth of population

~

33. The largest producer of sugarcane in the world is:

(2) China (b) India
(c) Brazil (d) Cuba
. 34. The fundamental factor which controls the distribution of insolation on the carth is:
*(a) Solar radiation (b) Distance of the sun from the earth
-(c) The earth’s size (d) Angle of the sun’s rays
--35. Which one of the following is not correctly matched? Y-

"0 0 “(a) Barchans - Wind (b) Tombolo — Sea Waves e
(c) Bar - Running water (d) Roche Moutonnes — Underground Watet,

36. Green House Effect is not caused by:

& A
(2) Industrialization (b) Rotation and revolutior SEECCEg

(c) Thermal power prod\:—(‘ﬁﬂ!t (d) Automobiles
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13. The Seismic .waves where in the particles move at right angles to the rays, é;e.

known as:
(a) Primary waves (b) Secondary waves
(c) Tertiary waves (d) Longitudinal waves

14. The difference between the maximum and minimum temperatures recorded for 3
placc during a period of one day is called

(a)Megn monthly temperature (b) Daily average temperadture

(c) Daily mean temperature - (d) Diurnal range of temperature
15. All the objects on the earth surface returned radiant energy in the form of:

(a) Micro-waves (b) Long-waves

(c) Short waves (d) Transverse waves

16. The important resource for iodine and potash.is:

(a) Brown algae (b) Green algae
(c)'Red algae (d) Blue-red algae

17. Where the contour lines nerge on a map, it shows the existence of a -
(a) Saddle © (b) Cliff
(¢) V-shaped vallcy (d) U-shaped valley

18. In which one of the following Zeninaj map projections, the point of projection is
the centre of transparent giobe: -
(a) Oblique Orthographic projection
(b) Equatorial Stereographic projection
(c) Polar Orthegraphic projection
(d) Polar Gnomonic projection

gin of the earth was propounded by:

19. The Planetesimal Hypothesis about the orj
(b) Weizsacker

(a) Laplace

(c) Chamberlin and Moulton {d) Jeaus and Jefferys
20. Which of the following planet is not the outer planet?

(a) Saturn (b) Uranus

(c) Earths.. (d) Jupiter

21. Which one of the following rocks is both the porous and permeable?
(a) Granite (b) Sand stone

(c) Shale (d) Basalt

22. Karst topography often remains dry due to:
(a) Excess of evaporation over precipitaiion
(b) Very little rainfall
(¢) Mountainous topography
(d) Downward percolation of rain water

23. \\:hjch one of the following features is not formed by wind action
(a) Barchans (b) Inselberg

{(c) Zeugen (d) Bar
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Part—- A

1. Who among the following is not a tertiary worker?
(b) Scavenger

(a) Barber
-+ (c) Lumberjack (d) Rickshaw puller
2. Rubber, tea and coffee processing units are:
‘(a) Basic industries (b) Heavy industries
(d) Public sector industries

2.+ {(c) Agro-based industries
Under‘which of the following type of resources can tidal energy be put?
~.-." (a) Exhaustible (b) Ncn-exhaustible
() Man-made (d) Non-renewable

(UP]

(b) South-west to North-east

4 The direction of ‘Roaring Forties’ is:
(d) North-east to South-west

© © ** (a) North-west to South-east
- {c) South-east 10 North-west

5. The Palk Strait separates India from
(a) Bangladesh (b) Pakistan
(c) Sri Lanka (d) Maldives
- 6. Which state is not bisected by the Tropic of Cancer?
(a) West Bengal (b) Rajasthan
(c) Gujarat (d) Orissa
7. Which city is called the Manchester of South India?
(a) Coimbatore {b) Sholapw
(c) Madural (d) Chennal
3. The famous book ‘Erkunde” was written by
(a)Humbol<t (b) Kant
(c) Ritter (d) Ratzel

9. Who propounded the ‘Heart Land’ concept?
(b) B J. Mackinder

- {a) A.T. Mohan
i(c) D.W_Meining (d) Richard Hartshorne
10. The approach describ:ng phy sical setting as a determinant of human way of life is

called
(a) Possibilism (b) Determinism
(c) Probabihsm (d) Stop and go determinism
1] International Map I'rojection =4 modification of. "
(a) Bonne's it (b Simple comcal projection h ~
(c) Polycomi. prorsciion W) Mervaior's piojection
12. ISRO was establishcd In
(a) 1958 (b) 1904
(c) 1972 . (d) 1978 ;
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80.

_ Differentiate between tropical and e

. Explain the chiet charactersics

g

"
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o
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EC

"-- a e\ -“3 "*'& . s ]
Critically examine "he concept of “cvele

. \“ ~1 o .
Davis. o1 crosion’ i the light of views of

: SEEERE Fyelomes b T bmsis ofthel
mode of orgin und characteristics., : yelenes o i basis ol thek

rerincuish be s mar ms
~ Distinguish between primary and secondary economic activin

v in world oceans differs horizom ‘
_ Salinity in world oceans differs horizomally and vertically. Expiain

_ Pewoleum in modern day JA esms . .
¢ 1 in modern day world consiittes o prime source of energy.

Discuss.

. Bring out the contribution of Strabo i the advancement of geographical

studies.

With reference 1o location atributes. describe the salient characteristics of
cotton textile indusiny of India.

Sthe term CE] o ? Menuon its eTects on Indian eather
condiuons.
of world distribuiion of pepulation and 11s

growth.

Bring out the influence of monseon e jronment on human lite and

oricultural cconomy of the regions.

|
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-
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Instruction to the Candidates

Please read the following instructions
carefully before start of the work:

(1) The question paper containing 80
questions. is divided into two parts:

(a) ann A contains 70 Multiple Choice
Type Questions of 2 marks each.

(b) Part B contains 10 short type
questions of 6 marks each (Answer of
cach question should be given in
about 100 wuils in ke arswer ' ook
rrovided to you).

(11) All questions are compulsory.

Instructions for Multiple Choice Type
Questions :
1. Each question is followed oy four
alternative answers, marked as (a),
(b), (c) and (d). Select one of the
Answers which you consider as most
appropriate and shade the relevant
circle (@) against the corresponding
question number on the OMR
Answer Sheet.

2. Use HB pencil OR ball pen for

No - marking the correct answers in the
g Room O - OMR sheet.
ate of Test: . 3. Do~ not put any mark of
2. D j* identification in any part of the
OMR sheet. ™
Sig.. of Candjdate with date 4. Selecting more than one.answer for
a question would result in its being-
; oilat treated as a wrong answer, even if,
e Sig. _Of the Invigilator one of the choices is correct.
-
R
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General Instructions:

1. Use of calculator - logarithmic table is not permissible.

[

The question booklet alongwith OMRK sheet and answer bhok must be hanced over
10 the invigilator before leaving the Fxamination Hall. No leaf should be torn off
from the question booklet / answer book.

3. The candidate appearing in this examination has to abide by all rules framed from
tme to time by the University.

4. Violation of any of these instructions will entail cancellation of the whole
Admission Test of the candidate.

- 1as responsibility of the candidate to fil vp the box below in ink/ball point pen
stating the number of (A), (B), (C) and (D) answers that he/she has marked on the
OMR shect If no answer is marked o some guestions, the number of such
Questions should be given against the *No Answer’ in the box and total be filled in
the last box before handing over the OMR sheet, answer book and question booklet
to the imvigilator

(A) (B) | (C) | D) NO Answer I[ Tota

In Fagures

S S —
-

In words

; | N |
, l 1 !

Signature of the Candidate
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familiar name
ta) Iuars Sunderbas
(C) NVl oid
S6 Which arca i lidintoon a
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WCOUNEr C

60, Which ot of Harnvana his
oy Sonepat
dr Hissu

producis
(2) Faridebac
(o) Paripet '
< "Bioospherz Resene
(b) Chhota Nagpur Piateau

11a ha< been declarca a
(d) Kazirangad

61. Which arca i Ind
(a) Ranthamboie
(o1 Nilewri hills
6. Which st of India hola~ @ prominznt nesiton in hiterac
1a) lhmuchu\ Pradesh i ,\.\adh,\a pradesh
(d) Kerala

(o West Beneal
Fraction (R.F.jof.

on @ map |} inch 1o I miles the conecl Keprcscmali\c
(h) 1:63.2
) n
63

63. A\ scale
ta) 1:63.620
what will oo the

(c) 1:63.360
0 is 07:00 am..

A1) at 1.ondo
1< T at Deth:
(by Y0 am

(dr01:30 pm

o relief is by drawin

64, If Greenwich Mean Time (G
corrcsponding Indian Suandard Time (
(ay 1030 am

(o) 12:30 pm

2 one

ques 1o chow the surfac

ographic e hn
(b) Contours

63. A p\’c‘n'cn'wi cart
of the followmneg

(a) Hachures

(c) p1ill-shadings (d) Spet ~heights

6. A day is added wher one passes troueh the Interrational Date Line from

(a) Narth 10 South (1) last o West

(c) Narth 1o last i)y West 1o East

of rainfall:

(b) Isohyet

s of a equal amount
(d) Isotherm

67. Ahne joining the place
(a) Isobar

(c) \soscismul
of Greenwich

is ahcad of 3%z hrs.

68. Indian Grandard Time (1ST). which
. corresponds with onc of 1he following meridians:
(a1 80 3¢ by 81 30
(182 30 (dy $3 20
e, canals and ranspOpautes bears @

69 Human cettlement that grows along
pauncrin. which is on¢ of the follow me:
(a) Circular panert — - 1) Crosoad patiern
(c) Lincarl patcm (d) Nucleated patern
70. On the periphers of citics in giclopne countrics sham dwetlers
space. }lj_?%‘§(~xt_lgz,\\cn11 15 1Chied a
(a) (".‘}‘JHRLI‘.CTSW\‘C‘.E () Corndor settlement
(¢) Squatier certlement (@) Subwibd
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Mt AL realim:

30. ’lu.)pical rain 1-0!1'\7 IS promnent seveldlion Hiay 2
ta) Fquate tive I\ onsonn
(cl Im;*:.;‘ai J;w;v-' d) Nicdrerrancar

37 Which vaier arcs Aean: Moper cept of cod! reserves in India
“11‘1 A J‘L‘ mpyNe v1\,_”3\
(<) \1.4...‘,1 Ghdeha (di Goedavar \ alley

Douglas firis a leadine timber trec o
(a) Asia
(c) North America

)
o]

tb) kurope

(di South America
tams over 90 per cent of carbon and 1s simolkejess:
{h) Bituminous

(d) Peat

39 A type of coal which e
(a) Anthracire
(¢) Lienite

cLlon s considered most sapable for growing of Ccirus fruiis:
by Nlediterranean region
() Tundra region

40. Which chimatic ¢
(a! Lquatorial region

(¢) Monsoor region

hest altnude
(b Timphu
(d) Garola

Which one town CIy s situated at the hie
(a) Lhasa

4

{¢) Lel
42, Who proposed the concept of “Pepulation Resource Reeion™ |
() Ackerman (b)Y Kosinsky
(¢! Trewartha (d) Zelinsky
43. Which Africar country does not belong to the Arab world®
(a) Morocco (1) Nigcria :
(c) Sudan (d) Tunisia i
{
44. Which concept in 2eceraphicel studies is associaied with the name of Vidal de la ]
Blache. !
(a) Landscape coviog (hy Lrdhunde ;
(c) Terrestrial whole 1d) Land schoft !
45, ibn-e-Khaldum is best Known for his contribution o the field of study [
(a) Astronomy (b) Human Geography
(c) Physical Geaerapha (d) Rezional Geography
46. Alexander von Humboldt 1s known for a compichersne account of revels and
expeditions writien i the book - |
ra) Caosmes (b Frdhunde {
(d) Almagast 1
r

(¢) HFhstorical NJemicirs

47. Which one is known as the founder of Political Geography
th) Humbeldt

{a) Raizels
(c) Ritter 1a)la Blache
48 A branch of goography dealing with the spatial distribution of planis and animals

1s knowr as:
(a) \nthmp, ogranhs (b) Bro-ge of‘lﬂph\
(¢) Piant geoor: aphy 1dy Zoo geography

|
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-4 3 Nountiain ranve awith Do . )
e am range with varving length and width existine on the ocean floor
RITOYY 38 =

S

al Submarine oy ;
( ubimarine i1l (1) Submarme Canvaon
() Submarme wangd (a) Coral Ree!

| B Wy Bypeepny 3 . o
=2. Which h\\»!_\ ttact in hndi recoives heavy ramfall:
@) {1‘:1\;1’?1\1&"» (b) Khasi hills
(o) Nalairt halls (dy Sivalik hills

N4 . .o aty N
26. "Horse Lauwudes™ are located in beiween:
ta) 13 and 23 iatiudes

(by 30 and 35 lantudes
()40 and 43 latiwudes

(d) 20 and 27 lautudes
27, What 1s willy=willy?
(a) An canhquake

(b) A high ocear tde
() Western disturbances

(d) A iropical cyclone

28 Western disturbances which provide rain in winter season in north India criginate
in:

{a) Arabian Sea (b) Bay of Bengal
(¢) Mediterrancan Sea (d) Red Sea

20 The most abundant salt found m the occan water is:

(a) .\lagnesmm chionde (b) Sodium chloride
(c) Magnesium bromide (d) Calcium sulphate

30. Which one of the fallowing is cold current of Atlantic ocean
(2) Gulf stream () Norwegian current
() Bengucla carram (d) RBrazi! current

31. Name the mingra. oic from which aluminum metal is extracted:
(a) Galena (b) Bauxnc
(c) Cnvolite (d) Parie

32 Which ciny of Brazil 1s known as “Coffee Capital . ‘
(a) bl'asnlia (b) Rio de lanetro
(o) Sac Paule td) Santes

33 Theriversof peninsuld: India e most auitable 19;1 ' ) |
- (a) \avigaton pip (NS (b Generation of hy dropow ¢t
a a i [ RASEN] ‘
(c) Canal noganie?r (d) Pisciculure
34. The best criterion o be {ahen e consideration while sclecting the sie for the
ol ne S < ! o
location of @ steel plantis
(a) Labour supply .
(1) Land and climate cond.uon 7
(c) Proximity coal and iron aepostl
(d) Provimiiy 10 o fer the espart o souds.
o LS - ' hed for the
T ¢ ap ‘elovaied sahle land™ Jammu and Kashmir is most suited fi
35. Karewas an ‘eloydtee =
cultiration ot ‘
(a) Roses (b Applcs
{c) Walnuts (d) Saffron 4
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13, In which courir. a wopizal exclone ‘< marmed as ™ Fain Y
fa) Whostiras (b Japa |
Tra. (31 Pl spimgs

14, Precinitation i the 1o of frozen ramaraps and refrozen melted snew water s

callec:

|i‘|J\':;‘

(1 W hite frost

(a) Hail
(c) Sicet

n

which oRstructs the visibility 10 an extent less than a

13 A weather phienomenon

kilometer 1=
(ai b i) VM

(o Hare vdy Rime
16. An estensive poril of the atmosphore with hemoescnous lemperature and
hunmidity is refened o as
ta) brom g (h A mass |
(o1 Zone of convereence tdr Zone of diverecnce

17. The averace saliminy of ocean water ever recorded s
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1. Registration Number in Figures:

. Name of the candidate.

4. Name of the candidate's father:
< Name of the candidate’s mother
Status: Internal’ External

7 Name of the Centre: ........coooonnn.

Room NO.  eeeriiiceinnn

Date of Test : ovivreiiieaeiiianeenenns

Sig. of Candidate with date

Sig. of the Invigilator

M.A. MSe. (e Oﬁ\'c\p\\d

vy

Duration

' Vlaximum Marks : 200

i Instruction to the Candidates

' Pleasc read the following instructions
‘ carefully before start of the work:
|

| {i) The question paper containing 80
| ) v . .
questions. is divided into Two parts:

(2) Part A contains 70 Multiple Choice
Jype Questions of 2 marks each.
Each wrong answer will carry 25
per cent negative marking.

10 short

(b)y Part B comains type
| questions of 6 marks each (Answer
] of cach question should be given in
| about 100 words in the answer book
! provided {0 you).

|

| (111 All guestions are compulsory.
Instructions for Multiple Choice

- Type Questions:
I FEach question is followed by four

(b). (¢) and (d). Select one of the
answers which you consider as most
appropriate and shade the relevant
circle (®) against the corresponding
I question number on the OMR
Answer Sheet.

Usc HB pencil OR ball pen for

marking the correct answers in the

OMR sheet.

. Do not put
idemuification in
OMR sheet.

. Sclecting more than one answer for a
question would resuli In its being
treated as a wrong answer, even if,

mark  of
any part of the

any

F-J

: Two hours I

!

alternative answers, marked as (a), |

oone of the choices is correct.
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